Valve Parts -Check valve / iﬁ 14: = ¥ rFL'J iﬁ

L =, RHV-M-ED
= i o SR kN
. EEEU L1 s =B H )i
B v Check valve
L1 EE?
L2
m FFE1S08434-1,24°FEEIEER = Complies with 1ISO8434-1, 24° ferrule connection
B H R/ R EEE, FEW m Commonly available carbon steel/galvanized surface, stainless steel
» T[S R KR E ® Fluororubber sealing ring available
DN R~ VAV::| 1247 58 s = ERdRhg
D1 L1 L2 L3 S1 S2 P1 P2 kg/100 Type Product Code
6 28 35 8 17 17 Mi115 M10x1 46 RHVOBLMED 0V1310610
29 36 12 19 19 M14xl5 M12x1.5 58 RHVOSLMED 0V1310812
10 385 455 12 2 22 MI&xL5 M14x1.5 10.8 RHV1OLMED 0V1311014
12 45 495 12 21 21 Mi8l5 M16x1.5 17.3 RHV12LMED 0V1311216
15 455 525 12 21 21 M22x15 M18x1.5 192 RHV15LMED 0V1311518
18 50 56 14 36 36 M26x15 M22x1.5 29.8 RHV18LMED 0V1311822
22 55 64 16 41 4 M30x2 M26x1.5 446 RHV22LMED 0V1312226
28 63 [ 18 5 50 M36x2 M33x2 722 RHV28LMED 0V1312833
35 69 81 20 60 60 M45x2 M42x2 1053 RHV35LMED 0V1313542
4 68.5 82 2 65 65 M52x2 M48x2 156.3 RHV42LMED 0V1314248
315 385 12 19 19  M14x5 M12x1.5 7.0 RHVO6SMED 0V1360612
315 385 12 19 19 Mlexls M14x1.5 76 RHVO8SMED 0V1360814
10 38 455 12 2 2 M85 M16x1.5 124 RHV10SMED 0V1361016
12 41 485 12 24 24 M20x15 M18x1.5 15.7 RHV12SMED 0V1361218
14 445 525 14 21 21 M22x15 M20x1.5 215 RHV14SMED 0V1361420
16 48 55 14 32 32 M24xL5 M22x1.5 296 RHV16SMED 0V1361622
20 52 61 16 41 M M30x2 M27x2 52.1 RHV20SMED 0V1362027
25 54.5 67 18 46 46 M36x2 M33x2 64.8 RHV25SMED 0V1362533
30 64 8 20 60 60 M42x2 M42x2 117.8 RHV30SMED 0V1363042
38 69.5 88 22 65 65 M52x2 M48x2 162.7 RHV38SMED 0V1363848

P.306



